[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

LAY LR RRR R R LR RRRRN RN LRRY LRRR LRRR

1.0

Ratio

e
i
L
0

102 107 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFit_CAND100stable
Efficiend —— pom_v0001_R000000001__Global__mkFit_CANDFINAL100stable

~ 0.05 T T T T T
R T S

o E T
>0.04------ e R i e
> E : : : : :
(8] - . . . . .
$.035F------- ARRAREED ok R A Peneeee
o E : : : :
£0.03--- SRR I A R
o E : : : :
R i Sl I S SR S
XS SRS SR B 5 S S
T NSRS SRR 1O B SR S

Of,fjiﬁﬁ ________ .

Vs

Ratio

H
T
+

30 -20 -10 O 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~ 0.02

>
50.018
5016
9.014
>
9.012
)

(&}

£ 0.01F
()

0.008
0.006[-
0.004f-
0.002

1.0

Ratio

P08 6 -4 -2 0 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


